7.3 Warmup

1. Sketch a graph of the following exponential functions. Give domain, range, y-intercept, and
equation of any asymptotes.
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2. Rewrite each of the following as a power with a base of 2.
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3. An radioactive element has a half-life of 300 years. Write an exponential function
that will determine the percent remaining of a sample in x years?
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7.3 Solving Exponential Equations

Example 1. Solve the following exponential equations:
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Solve the following exponential equations by converting each side to the same base
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Example 2. Solve:

2 )" - (3%) ‘ _s5
2 Y ) -K — - 2
5- 23 ;19'-@?’ * : (2 5) 32
2 2% 5%

) _ x¥2 = DX

SK Fx=-2
'P?)‘D”f ¥4, 50c X+ _ 5
2 - 2 X =z =
7
Example 3. Solve by guessing and checking. Give your answer to at least one decimal place of
accuracy.
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Example 4. You have $2000 invested at 8%/yr compounded annually. What will this investment
amount tQ in 4 years?
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The formula for compound interest is A=P(1+ r)n , Where A is the accumulated amount, P is the

principal (amount earning interest), r is the interest rate per compound period, and n is the number of
compound periods.

If in the previous question, the interest had been compounded monthly, what would the investment be
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The compound interest formula is just a specific form of the general exponential function y =y, (a)%.
The formula A=P(1+ r)t is sometimes called the annual compounding formula, and the general
compound interest formula is then sometimes written as A = P(1+%)nt (where n represents the number of

compound periods per year and t is the number of years.

Note: Be aware of the differences between what n, t and x represent in each of these formulas.

How long will it take $5000 invested at 4.5%/a compounded quarterly to double in value? +
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